ot

mlo
o{N
r

>
i
it

@® 30=2%2x3x5
® 80=28x10

® 200 =2 x 102

st A

[e]
h 8 }\f?

@ 140 =22x3%2x5

@60222><3><5

~&B

D30=2x3x5
@140 =22x5x%x7
®80=2*x5

® 200 = 23 x 52




120 o 244 x sto] olm
%%x -04 %IO] %

b @ 22x3x5

@22x3><5

@ 2x3x5xT72

B 2x33%x5




3. 240xa=0b*2WEohs 7P 22 A a, b ol kA b-a 9

@45 @ 60 ® 75 @ 90 ® 105

240 =24 x3x5 °|EZ g =3x%x5

24 x3x5x(3x5) =24x32x5%2,b=22x3x%x5=60
a=15, b =60

b—a=45




The % o0l 4Tt 5 A AL F A A A

® 12 @ 14 @16 @ 18 ® 20

oF59] A 20552 A5l 1 Hate] F3 Folnz
oF5o] 47t 5 A A9
A7} 4 Q1 29157 SHEl A9 Hrel ek,
wetA o] A o] A%t g 27 SAehAE
49157} 71 Folorstz
AQAE TP e 4441 2 0]
S

webA] ofel 47t 5 9 g A Aast 2t = 16 oI,




i

SAMONA 5 4 Apole] Ael7t s o], Aoigre] 23 57} o
_‘_lz_

5 Q%o Fugol 23 ¥ A% Atol 9] Azt solnz A
AN T A7 AL doleh, oA, B Ak 4, 218 4=

—40]tt.




® 2

4

® 0




7. H=FEY A2

mlm

O xs=20/F3noltt = 2<x<3
@ xe=-1zx15050 = -1<x<5
@ xe10gtoxdoltt= 0<x<1
@)xEo0orgamzolt 5 0<r<a
® xE-3zxd4udtoltt = -3<x<4




a= (-2)x (D) o= ()« (+2) 2 wh axp o oz

® 5 @ 2 @2 @-3 )

E}E}/ﬂaxb:ix(—20):—5




9.

o & AL 237 Y 2] Yl gE Sk

@) (=6)x 2+ (-4) @ (-24) = (-8) x (-1)
® 18+ (-6) @ (-5) x (-3) = (-b)
® 27+ (-3) = (3)

B

D (-6) x
@ (-24) + (
® 18+ (-6) = -3
@ (- )><(3)—(5)
® 27+ (=3)+ (3) =

+(-4) =3
8)x(-1) =




10. thee Atshw?

s+ {(L-s) xoz- 2}




11. 5 A4 23 x3x%x5, 22 x 52 9] FF7}

@22 @ 2x5 5
@ 22x5 @23X3X52

® 23x3x5%22L

© 93 x3x5,22x52 9 HAFu|So|t




15 2o ol 8otod 4] 5 24,32,36 9] H4

of

@ 4 @ 48 ® 9  (@)2ss

~&B

® 360

2)24 2)32 2)36
2)12 2) 16 2)18
2) 6 2) 8 3) 9
3 2) 4 3
P
5.24=2"x3  .32=2"  .36=2"x3

mrebA X AFalg= 2° x 32 = 288 °| T

2




13.

8cm,6cm 9 F E50] M A, BE TS EFF9
242k ol A 1 o]} 2 ST ik B 4 9 g A
& Wickn 9 v, Wolo & Me] £F k2t Fou?

O #HA:238, B 43 @i—‘,‘Ai3iﬂ,7ﬂ.‘Bi4iﬂ
@ MA: 4@, B 24 @ WA 43, AB:3HA

® AA:4W AR 47

2 He 4o AL Hojopslma 1 kolt s 7}
6 o] 22 ZH|4=e 24 o]t} WebA WL AL ol 2em T}

olnf, M| == Z}7F 24 2 8 = 3 (P), 24 + 6 = 4 (P) o]tk
=, A7 8em 1 A A =3 A, FAZ6em 1 H B=4Ee
grofof git,
2) 8 6

4 3




14, 552072, 227 o] AhBALT 2x 72, AT 22 x 7
A, at b O] 3LE FHHE?

) ZeFL7t 2 x T2 O|BR g = 1 0],
o572 x 72 o]BR b =4 o|th
wetA g + b = 5 ©|T




olJ
L

ol

@ 3 ® 8

® 2

)
(aN]
|
Il
D
I_I
I
L
o
S
7 AL
| O T
an)_\_u_o_v_
< o N
o 2 o
N X
» RN
U
~ N
S
qT S




